
Mission impossible? Mission impossible! Compromises in theory Compromises in practice

School accountability:
Can we reward schools and avoid pupil selection?

Erwin Ooghe � Erik Schokkaert

Department of Economics, University of Leuven
IZA, Bonn � CORE, UCL



Mission impossible? Mission impossible! Compromises in theory Compromises in practice

Mission impossible?

6

-

output y

background

�
�
�
�
�
�
�
�
�
��

��
��

��
��

��
��

��

a
a0

b b0

f (a, b) 1
s

f (a, b0)
2s

f (a0, b0) 3
s

f (a0, b)
4s



Mission impossible? Mission impossible! Compromises in theory Compromises in practice

Mission impossible!

20

40

60

80

100

­25 ­20 ­15 ­10 ­5 0 5 10 15 20 25

initial test score

fin
al

 te
st

 s
co

re



Mission impossible? Mission impossible! Compromises in theory Compromises in practice

Compromise solutions in theory

A benchmark solution:

sUO
j = constant + slope � f (aj, bj)

Two alternative solutions:

sRA
j = constant + slope � (f (aj, bj)� f (ea, bj))

sRB
j = constant + slope � f (aj,eb)

sVA
j . . . is a special case of sRA

j

constant & slope ...
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Two simulations
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Incentives for good administration
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Incentives for pupil selection
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